

[B]

$$\textcircled{1} f(x) = \sqrt{1+x} - \sqrt{x} = \frac{1}{\sqrt{1+x} + \sqrt{x}} \rightarrow \frac{1}{\infty} = 0; \quad x \rightarrow +\infty.$$

neboli  $\sqrt{x} \rightarrow +\infty; \quad x \rightarrow +\infty$

$$\textcircled{2} f(x) = x(\sqrt{x^2+1} - \sqrt{x^2-1}) = \frac{2x}{\sqrt{x^2+1} + \sqrt{x^2-1}} = \frac{2x}{\left(\sqrt{1+\frac{1}{x^2}} + \sqrt{1-\frac{1}{x^2}}\right)}$$

neboli  $\sqrt{1+\frac{1}{x^2}} \rightarrow \sqrt{1} \rightarrow 1; \quad x \rightarrow +\infty$

díky aritmetickému limitu a možnosti  $\sqrt{y}$ .

$$\textcircled{3} f(x) = x^{4/3} \left( \sqrt[3]{x^2+1} - \sqrt[3]{x^2-1} \right); \quad \sqrt[3]{a} - \sqrt[3]{b} = \frac{a-b}{(\sqrt[3]{a})^2 + \sqrt[3]{a}\sqrt[3]{b} + (\sqrt[3]{b})^2}$$

$$= \frac{2x^{4/3}}{\left(\sqrt[3]{x^2+1}\right)^2 + \sqrt[3]{x^2+1} \cdot \sqrt[3]{x^2-1} + \left(\sqrt[3]{x^2-1}\right)^2};$$

pročže  $\sqrt[3]{x^2 \pm 1} = x^{2/3} \sqrt[3]{1 \pm \frac{1}{x^2}}$ , at

$$f(x) = \frac{2x}{\left(\sqrt[3]{1+\frac{1}{x^2}}\right)^2 + \sqrt[3]{1+\frac{1}{x^2}} \sqrt[3]{1-\frac{1}{x^2}} + \left(\sqrt[3]{1-\frac{1}{x^2}}\right)^2} \rightarrow \frac{2}{3} \quad [m.x.]$$

$x \rightarrow +\infty$

neboli  $1 + \frac{1}{x^2} \rightarrow 1; \quad x \rightarrow +\infty$

$g(y) = \sqrt[3]{y}$  možito'v bodě  $y_0 = 1$ . V.2.6. (a)

$$\textcircled{4} f(x) = \frac{(2x-3)^{20} (3x+2)^{30}}{(2x+1)^{50}} = \frac{x^{20} \left(2 - \frac{3}{x}\right)^{20} x^{30} \left(3 + \frac{2}{x}\right)^{30}}{x^{50} \left(2 + \frac{1}{x}\right)^{50}}$$

$$= \frac{\left(2 - \frac{3}{x}\right)^{20} \left(3 + \frac{2}{x}\right)^{30}}{\left(2 + \frac{1}{x}\right)^{50}} \rightarrow \frac{2^{20} 3^{30}}{2^{50}} = \left(\frac{3}{2}\right)^{30}; \quad x \rightarrow +\infty.$$

[m.x.]

$$\textcircled{5} \quad f(x) = \frac{2x^2+1}{\sqrt{3x^4-6x^2+5}} = \frac{\cancel{x^2} \cdot (2 + \frac{1}{x^2})}{\cancel{x^2} \sqrt{3 - \frac{6}{x^2} + \frac{5}{x^4}}} \rightarrow \frac{2}{\sqrt{3}}, x \rightarrow +\infty$$

zmenovateľ:  $3 - \frac{6}{x^2} - \frac{5}{x^4} \rightarrow 3$

V.2.6, (a)

$g(y) = \sqrt{y}$  monotónne  $y_0 = 3$ .

$$\textcircled{6} \quad f(x) = \frac{\ln(1+3^x)}{\ln(1+2^x)} = \frac{x \cdot \ln 3 + \ln(1+3^{-x})}{x \cdot \ln 2 + \ln(1+2^{-x})}$$

preto:  $\ln(1+3^x) = \ln\left\{3^x \left(1 + \frac{1}{3^x}\right)\right\} = \ln 3^x + \ln\left(1 + \frac{1}{3^x}\right)$   
 $= x \cdot \ln 3 + \ln\left(1 + \frac{1}{3^x}\right)$

$$= \frac{\ln 3 + \frac{1}{x} \ln\left(1 + \frac{1}{3^x}\right)}{\ln 2 + \frac{1}{x} \ln\left(1 + \frac{1}{2^x}\right)} \rightarrow \frac{\ln 3}{\ln 2}; x \rightarrow +\infty$$

keďže  $\frac{1}{x} \rightarrow 0$ ;  $\ln\left(1 + \frac{1}{3^x}\right) \rightarrow \ln(1) = 0$ ;  $x \rightarrow +\infty$   
 $\rightarrow +\infty$ .

podobne zmenovateľ.

$$\textcircled{7} \quad f(x) = \sin \sqrt{x+1} - \sin \sqrt{x}; \text{ vzorec: } \sin a - \sin b$$

$$= 2 \sin \frac{a-b}{2} \cos \frac{a+b}{2}$$

$$= 2 \sin \frac{\sqrt{x+1} - \sqrt{x}}{2} \cdot \cos \frac{\sqrt{x+1} + \sqrt{x}}{2}$$

$\underbrace{\hspace{10em}}_{\rightarrow 0}; \quad \underbrace{\hspace{10em}}_{\text{omezené}}$

lebo  $f(x) \rightarrow 0, x \rightarrow +\infty$

keďže  $\sqrt{x+1} - \sqrt{x} \rightarrow 0$

alebo V.2.4.

(možná BA)

$$\textcircled{8} \quad f(x) = \exp\left(x \ln \frac{x+a}{x-a}\right) \rightarrow e^{2a}; \quad x \rightarrow +\infty$$

$$a \neq 0$$

$$x \cdot \ln \frac{x+a}{x-a} = \frac{\ln \frac{x+a}{x-a}}{\frac{x+a}{x-a} - 1} \cdot x \cdot \left(\frac{x+a}{x-a} - 1\right) = P_1 \cdot P_2 \rightarrow 2a$$

$$\ln \frac{x}{x-1} \rightarrow 1; \quad x \rightarrow 1$$

$$\frac{x+a}{x-a} \rightarrow 1; \quad x \rightarrow +\infty$$

$$\frac{x+a}{x-a} = 1: \quad x+a \neq x-a \text{ ne } P(+\infty)$$

$$a \neq 0$$

$$\Rightarrow P_1 \rightarrow 1; \quad x \rightarrow +\infty$$

$$P_2 = \frac{x \cdot 2a}{x-a} = \frac{2a}{1 - \frac{a}{x}} \rightarrow \frac{2a}{1 - \frac{a}{+\infty}} = 2a.$$

$$\textcircled{9} \quad f(x) = \frac{x^a}{\ln^b x} = x^a (\ln x)^{-b}$$

$$(i) \quad a > 0, b < 0: \quad \left. \begin{array}{l} x^a \rightarrow +\infty \\ \ln^{-b} x \rightarrow +\infty \end{array} \right\} \Rightarrow f(x) \rightarrow +\infty \cdot +\infty = +\infty$$

$$(ii) \quad a < 0; b > 0: \quad \left. \begin{array}{l} x^a \rightarrow 0 \\ \ln^{-b} x \rightarrow 0 \end{array} \right\} \Rightarrow f(x) \rightarrow 0 \cdot 0 = 0.$$

$$a, b > 0: \quad f(x) = \left(\frac{x^{a/b}}{\ln x}\right)^b$$

$$\text{vime: } \left. \begin{array}{l} \frac{y}{\ln y} \rightarrow \infty; \quad y \rightarrow +\infty \\ x^y \rightarrow +\infty; \quad x \rightarrow +\infty \\ (y > 0) \text{ zjeme } \neq +\infty \end{array} \right\} \Rightarrow \frac{x^y}{\ln x^y} = \frac{1}{y} \cdot \frac{x^y}{\ln x} \rightarrow +\infty$$

$$\text{uvijeri po } y = a/b > 0;$$

$$y^b \rightarrow +\infty; \quad y \rightarrow +\infty.$$

(10)  $f(x) = x^a / |\ln x|^b \rightarrow 0; x \rightarrow 0^+; a, b > 0.$

$$\lim_{x \rightarrow 0^+} f(x) = \lim_{y \rightarrow +\infty} f\left(\frac{1}{y}\right) = \lim_{y \rightarrow +\infty} \frac{|\ln \frac{1}{y}|^b}{y^a} = \lim_{y \rightarrow +\infty} \frac{1}{\frac{y^a}{b \ln y}}$$

pril. c. 9  $\Rightarrow \frac{y^a}{\ln b y} \rightarrow +\infty$ ;  $\frac{1}{\dots} = \underline{0}$ .

(11)  $f(x) = \frac{x^a}{e^{bx}} = \left(\frac{x}{e^{\frac{bx}{a}}}\right)^a \rightarrow +\infty$

líme:  $\frac{y}{e^y} \rightarrow 0; y \rightarrow +\infty$   
 $y \rightarrow +\infty; x \rightarrow +\infty$   
 $y > 0$  pevné }  $\Rightarrow \frac{y \cdot x}{e^{yx}} \rightarrow +\infty; x \rightarrow +\infty$

dej:  $\frac{x}{e^{rx}} \rightarrow +\infty$   
 $\neq y \rightarrow 0.$

(12)  $f(x) = \frac{2^x + 3^x + 2x e^x}{x^m \ln x + 3^x} = \frac{\left(\frac{2}{3}\right)^x + 1 + 2x \left(\frac{e}{3}\right)^x}{\frac{x^m \ln x}{3^x} + 1}$

vytknu vedoucí člen

$\frac{3^x}{3^x} \rightarrow 1$   
 $x \rightarrow +\infty$

jednotlivé členy:

$\left(\frac{2}{3}\right)^x = e^{x \ln \frac{2}{3}} \rightarrow 0; e^y \rightarrow 0; y \rightarrow -\infty$   
 $\ln^2 3 < 0: x \cdot \ln^2 3 \rightarrow -\infty; x \rightarrow +\infty.$

$x \left(\frac{e}{3}\right)^x = \frac{x}{\exp[\ln 3 - 1]x} \rightarrow 0; x \rightarrow +\infty$  (př. 11)  
 $\ln 3 > 1$  ( $3 > e$ ).

$$\frac{x^m \cdot \ln x}{e^{x \ln 3}} = \frac{x^m}{e^{x \frac{1}{2} \ln 3}} \cdot \frac{\ln x}{x} \cdot \frac{x}{e^{x \frac{1}{2} \ln 3}} \rightarrow 0 \cdot 0 \cdot 0 = 0$$

$\frac{1}{2} \ln 3 > 0$ ; viz př. 11, 9.

$$(13) f(x) = \frac{x \cdot \ln x \cdot \arcsin x}{\sqrt{x} \cdot \ln x^2} = \frac{1}{2} \sqrt{x} \cdot \arcsin x \rightarrow +\infty \cdot \frac{\pi}{2} = +\infty;$$

$$(14) f(x) = (1 - \cos x) \cdot \ln x = \frac{1 - \cos x}{x^2} \cdot x^2 \ln x \rightarrow \frac{1}{2} \cdot 0 = 0$$

viz pr. 10. & rektedul limite pro cos x:

$$\frac{1 - \cos x}{x^2} \cdot \frac{1 + \cos x}{1 + \cos x} = \frac{1 - \cos^2 x}{x^2} \cdot \frac{1}{1 + \cos x} = \left( \frac{\sin x}{x} \right)^2 \cdot \frac{1}{1 + \cos x} \rightarrow \frac{1}{2}$$

$\neq 0$  na  $P(0, \pi)$

$$\frac{\sin x}{x} \rightarrow 1; x \rightarrow 0 \quad ; \quad \frac{1}{1 + \cos x} \rightarrow \frac{1}{1 + \cos 0} = \frac{1}{2}$$

$$g(y) = y^2 \dots \text{monoton} \nearrow 0$$

$$\cos x \text{ monoton} \searrow 0.$$

$$(15) \frac{\ln(1 + e^x)}{x} = \frac{\ln(e^x(1 + e^{-x}))}{x} = \frac{x + \ln(1 + e^{-x})}{x}$$

$$= 1 + \frac{1}{x} \ln(1 + e^{-x}) \rightarrow 1; x \rightarrow +\infty$$

$$e^{-x} \rightarrow 0; x \rightarrow +\infty$$

$$\ln z \text{ monoton} \nearrow y_0 = 1$$

$$\xrightarrow{\text{V.2.6(a)}} \ln(1 + e^{-x}) \rightarrow \ln 1 = 0$$

$x \rightarrow +\infty.$

$$(16) f(x) = \frac{\sqrt{x^6(3 + x^{-4} + x^{-6}e^{-x})}}{\sqrt[4]{x^{12}(1 - x^{-24})}} = \frac{x^3 \sqrt{3 + x^{-4} + x^{-6}e^{-x}}}{x^3 \sqrt[4]{1 - x^{-24}}} \rightarrow \sqrt{3}$$

$x \rightarrow +\infty.$

$$x^{-a} \rightarrow 0; x \rightarrow +\infty; a > 0$$

$$e^{-x} \rightarrow 0$$

$$\sqrt[4]{y}, \sqrt{y} \text{ monoton} \nearrow y_0 > 0.$$

$$(17) \quad \ln\left(\frac{x^2-3}{x+1}\right) = \ln x \cdot \left(\frac{x^2-3}{x(x+1)}\right) = \ln x + \ln \frac{x^2-3}{x^2+x}$$

$$f(x) = \frac{\ln x + \ln\left(\frac{x^2-3}{x^2+x}\right)}{2 \ln x} = \frac{1 + \frac{\ln \frac{x^2-3}{x^2+x}}{\ln x}}{2} \rightarrow \frac{1}{2}; x \rightarrow +\infty$$

note:  $\ln x \rightarrow +\infty$

$$\frac{x^2-3}{x^2+x} = \frac{1 - 3/x^2}{1 + 1/x} \rightarrow \frac{1 - \frac{3}{+\infty}}{1 - \frac{1}{+\infty}} = 1;$$

lim ...  $y_0 = 1$ .

$$(18) \quad f(x) = \frac{e \cdot x}{\ln(e^{3x}(1+e^{-6x}))} = \frac{e \cdot x}{3x + \ln(1+e^{-6x})} =$$

$$= \frac{e}{3 + \frac{1}{x} \ln(1+e^{-6x})} \rightarrow \frac{e}{3}; x \rightarrow +\infty$$

$\frac{1}{x} \rightarrow 0; 1+e^{-6x} \rightarrow 1; \lim y = 1$

$$(19) \quad f(x) = \sqrt{x^3} \left( \sqrt{x+1} - \sqrt{x} + \sqrt{x-1} - \sqrt{x} \right) = (\sqrt{x})^3 \left( \frac{1}{\sqrt{x+1}-\sqrt{x}} - \frac{1}{\sqrt{x-1}+\sqrt{x}} \right)$$

$$= \frac{\sqrt{x}}{\sqrt{x+1}+\sqrt{x}} \cdot \frac{\sqrt{x}}{\sqrt{x-1}+\sqrt{x}} \cdot \sqrt{x} \left( \sqrt{x-1} - \sqrt{x+1} \right)$$

$$= \frac{-2}{\sqrt{x-1}+\sqrt{x+1}}$$

$$= \frac{1}{\sqrt{1+\frac{1}{x}}+1} \cdot \frac{1}{\sqrt{1-\frac{1}{x}}+1} \cdot \frac{-2}{\sqrt{1-\frac{1}{x}}+\sqrt{1+\frac{1}{x}}} \rightarrow \frac{1}{2} \cdot \frac{1}{2} \cdot \left(\frac{-2}{2}\right) = -\frac{1}{4}$$

$$\textcircled{20} \quad f(x) = \sqrt{x + \sqrt{x + \sqrt{x}}} - \sqrt{x + \sqrt{x - \sqrt{x}}} = \frac{\sqrt{x + \sqrt{x}} - \sqrt{x - \sqrt{x}}}{\sqrt{x + \sqrt{x + \sqrt{x}}} + \sqrt{x + \sqrt{x - \sqrt{x}}}}$$

$$= \frac{2\sqrt{x}}{\sqrt{x + \sqrt{x}} + \sqrt{x - \sqrt{x}}} \cdot \frac{1}{\sqrt{x + \sqrt{x + \sqrt{x}}} + \sqrt{x + \sqrt{x - \sqrt{x}}}} = P_1 \cdot P_2$$

$$P_1 = \frac{2}{\sqrt{1 + \sqrt{\frac{1}{x^3}}} + \sqrt{1 - \sqrt{\frac{1}{x^3}}}} \rightarrow \frac{2}{1+1} = 2;$$

nelost:  $\frac{1}{x^3} \rightarrow 0$ ;  $g(y) = \sqrt{y}$  monotón v  $y_0 = 1$   
 $> 0$  a v bodě  $y_0 = 1$  zprava.

$$P_2 \rightarrow \frac{1}{+\infty} = 0, \text{ nelost } \sqrt{y} \rightarrow +\infty; y \rightarrow +\infty$$

$$x - \sqrt{x} = x \left(1 - \frac{1}{\sqrt{x}}\right) \rightarrow +\infty \left(1 - \frac{1}{+\infty}\right) = +\infty$$